Sr

10

1"

12

13

14

15

Questions

Question Image

The symbol used for parallel is

In a parallelogram congruent parts are:

How many right angles are in parallelogram:

Bisectors of angles formed with any one side of a Parallelogram intersect each other at
angle :

How many angles in right triangle are of 90°:

Medians of a triangle are

of rectangle are congruent:

Diagonals of a rectangle are:

Bisection means dividing in equal parts:

Diagonal of Parallelogram divides it into two triangles:

Opposite sides are congruent in a

Bisectors of angle formed with any one side of a parallelogram intersect each other at angle:

In parallelogram are congruent:

Diagonals of a parallelogram do of each other;

Answers Choice

. Opposite sides

. Opposite angles

. Diagonals

. Opposite sides and angles
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. Parallel

. Concurrent

. Opposite

. Non-concurrent

. Diagonals

. Heights

. Bases

. None of these

. Congruent
. Opposite
. None of these

. One

. Two

. Three
. Four

. Congruent

. Not congruent
. Not equal

. None of these

. Triangle

. Parallelogram
. Trapezium

. Rhombus

. 150°
. 30°
. 60°
. 90°

. Opposite sides

. Opposite angles

. Opposite sides and angles
. Diagonals
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A. Bisection
B. Trisection
C. Trisection
D. None of these



